LETTER OF ACCESS TO CONFIDENTIAL DATA

[Addressed to the evaluator and the registration authority]

Within the process of the development of FAO/WHO pesticide specifications, it is necessary to assess whether or not the confidential data on manufacturing process, purity and impurities, provided in support of the technical material for which an FAO/WHO specification is proposed, are similar to those assessed by a competent authority for the purposes of registering the pesticide.

The purpose of this letter of access, provided by …… [company name and address] in support of the development of pesticide specifications for …… [name of active ingredient], is to provide the evaluator, …… [name of evaluator], appointed by …… [WHO or FAO or both] and the registration authority with the following:

[The company should choose one of the following two options. The option which is most appropriate for the circumstances of the evaluator should be preferred. The option which is not used should be deleted.  If the pesticide is registered for both agricultural and public health use, by separate authorities (whether in one country or two), the company should identify both authorities. The letter should state the registration number so as to facilitate access to the national files. The company should ensure that the letter includes the full contact details, including email, and the postal address of the contact person and the national authority.] 

i) Authorisation to access the registration data submitted by …… [company name] for …… [name of active ingredient] held by …… [name of registration authority], in its function as the national registration authority for pesticides in …… [name of country].; OR

ii) Authorisation to send the data provided by …… [company name] for [active ingredient] to …… [contact name and full address of registration authority] for their assessment of the similarity and subsequent communication with the evaluator, …… [name of evaluator].

This authorization relates only to the above mentioned substance manufactured by …… [name of the Company] for the intended purpose as described above.

…… [signed by company representative]

cc: 
…… [Registration authority]


FAO


WHO

The calculations shown below are normally utilized by WHO/PCS in advising JMPS.  They are presented here for the purposes of transparency.

The calculations can be made only where (i) where the nature of the toxic hazard presented by active ingredient and impurity can be considered similar, (ii) the effects may be considered to be additive, and (iii) either the toxicity of the impurity has been determined or it is possible to estimate it from data on analogous compounds.  If requirements (i) and (iii) are fulfilled but the toxic effects are not additive, a calculation may be possible if the nature of the interaction is known, but not in the form given below.

The calculations are presented here in full, for clarity, but can be simplified by omitting the term for relative hazard of the active ingredient (=1).

Calculations

(i)
Calculate the relative hazard of the impurity (RelHazimp) from the hazard data for the impurity (Hazimp) and active ingredient (Hazai). The term Haz expresses the toxicity in a figure that is inversely related to the potency, such as LD50, NOAEL, BMD or BMDL,   
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(i)
‡ 
The relative hazard of the active ingredient (RelHazai) is consequently 1.

(ii)
Calculate the maximum theoretical increase in hazard of the active ingredient/impurity mixture (MTIHaz), as a proportion of active ingredient hazard (Hazai), from the minimum purity (%) of the TC (%aimin) and the corresponding theoretical maximum content (%) of the impurity (%impmax).
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The expression may be simplified because RelHazai = 1.
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(ii)

‡ (iii)
Calculate the maximum limit acceptable for the impurity concentration (%impmaxaccept) by substituting a limit of 1.1 (i.e. +10%) for MTIHaz and %impmaxaccept for %impmax, in equation (ii):
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(iii)

‡
and rearranging equation (iii):
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(iv)
‡Where:


Hazai = active ingredient hazard value;


Hazimp = impurity hazard value;


RelHazimp = relative hazard of impurity compared with active ingredient;


RelHazai = relative hazard of active ingredient (=1);


%aimin = declared minimum active ingredient content;


%impmax = maximum theoretical content of impurity;

MTIHaz = maximum theoretical increase in hazard due to impurity;


%impmaxaccept = maximum acceptable content of impurity.

Example 1

The acute oral LD50 of an impurity is 100 mg/kg bw and that of the active ingredient is 1000 mg/kg bw.  The minimum purity of the TC is 92%.
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Calculate MTIHaz from equation ii.
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(87% >10% increase, therefore the impurity is relevant)

‡ 

Calculate %impmaxaccept from equation iv.
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‡ 

Rounding to 1 significant figure (or 1.5 significant figures where the difference would be too large), the maximum limit acceptable for the impurity concentration is therefore 1%.
Example 2

A biological pesticide has a minimum purity of 20%.  The acute oral LD50 of an impurity is 2000 mg/kg bw and that of the active ingredient is 1000 mg/kg bw.  That is, the impurity is less hazardous than the active ingredient.
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Calculate MTIHaz from equation ii.
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(200% >10% increase, therefore the impurity is relevant)
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Calculate %impmaxaccept from equation iv.
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Example 3

The acute oral LD50s of an impurity and active ingredient are 400 and 600 mg/kg bw, respectively, and the minimum purity of the TC is 98%.
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Calculate MTIHaz from equation ii.
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(3% <10% increase, therefore the impurity is non-relevant).  
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